1. Which of the following situations is likely to

cause musclg cramps?

lucose — Mo Oxygen | actic acid

2. Glucose — OX¥&n . _ | actic acid

3. Glucose — MoOxygen _ ajcohol + €03,

4. Glucose — &0, CO,+H,0

2. Matcheachitemin ColumnIwith appropriate
one/s in column I1.

Column 1 Column 11

1. Red eyed freg—+ A Thick skin and
l strong sense of

smell
IL i Toncamr——— . Thick skin and
‘ sensitive hearing
111. Big cats - 'I —T.ong large beak
IV. Polar bear D. Sticky Pad

Select the correct alternative:
1. IB,IIC, IIID,IVA
2. IB. IIC, A, IVB X

ﬁll C,IIB,IVA

4 ID.IC.IMAIVB )

3.  Which one of the following(s) is NOT a
reason for shortage of usable water. |

1. Oyer exploitation
Aate change

3. Deforestation
J/D:cmasc in sea level
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from Column II.
Column 1 Column 11
I. Ginger—— | A.Tuber

II. Onion _M. [ B. Grafting
I11. Potato — Ib
IV. BryﬂphyIlu_i;l::_D%ﬁzume
. Bulbil
Select the correct alternative.
11D, IIC, A, IVE
2. ID,IIF,IIE, IV C

3. 1C,IIB,IA,IVD
4. ID,IIE, A, IVB

air is pumped into water to :

3. Disinfect water

4. Blow human waste.

followings.
Body
Pulmonary

1. Veins >
Hieart Vein

L_E.Adventitiuus buds

5. Inthe waste water treatment plant (WWTP)

1. Support the growth of anaerobic bacteria
= Support the growth of aerobic bacteria

6. Select the correct Schematic representation
of blood circulation in human from the

»Lungs

Pulmonary Artery

Pulmonary Artery
Veins
< Body Heart Lungs

S

Pulmonary Vein

P
3. Bnd}- Heart ulmonary

}\‘:rfl_n,/ Artery
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2. ID, IIF, IIE, IVC

3. IC, 1B, IIIA, IVD

4. ID, TIF, IIA, IVB
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7.

Water holding capacity of clayey soil is more
than sandy soil, because

A. Space between clay particles is more
B. Surface of clay particle is more

C. Space between sand particle is more
D. Clay particle can absorb more water.

Which one of the following alternatives is
correct?

1. A,D
2. B.D

=
4. C,D

8.

Match the items in Column I with the
appropriate ones in Column [I

Column 1 Column II
I. Winnowing . Irrigation
II. Threshing——§ B. Hoe

ITI. Drip system C. Separation of

grain & chaff

IV. Weeds paration of

seeds & chaff.

Select correct alternative.
CIDINC. A, IVB

2

3. 1C, D, B, IVA
4. IC,IID,IITA,TVB

2 lD,HC,lﬂB,IVAX

Silk fibres are secreted by

darva

v

3 Cf:-::m:-n

4. Adult silk moth
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10. Students were taken to a museum on an
educational trip. Which one of the following
documents will provide the information on
endangered animals and plants?

1. Data Book

2. Atlas

3 }/Rﬁ];ata Book

4. Dictionary

11 Two sisters looked exactly same. This may

be due to

1: ‘/Mitcmhﬂndﬁal DNA
7. Genes

3. Nucleoli and Nuclei

4. (Genes and RNA

12. Baker's yeast is added to aquarium for the
following reason:

A
B.

It provides minerals and metals
It absorbs heavy metals present in water
and purifies it.

It helps the plants for photosynthesis
through aerobic respiration.

B

D. It helps the plants for photosynthesis
through anaerobic respiration.

Select the correct option.

1. Aonly 2. Conly
ﬁdc

4. A&B

13. Match column I with item of column II
Column I Column II
I. Lohi —\ _—AsHosiery
I1. Nali Coarse wool
III. Patanwadi  J*  C. Carpet wool
IV. Marwari ——"—D: Good quality wool

Select the correct alternative.

1. 1D, 11 C, LA, IV B%
_/[)J,HB,IHA,IVC
3. IC,1IB, A, IVD
4. 1B,IIC, A, VD
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14, After rain, tadpoles were found swunmmg

in a pond but not the frogs. This is due to —
A lack of pituitary hormones.
B lack of sex hormones.

C lack of thyroxine

, r‘%hfk/ of iodine in water
Select the correct alternative,
1. Aand B
2. Aand C

3 CandD

4. A,B,CandD
15. Polycot is a mixture of
1. cotton and nylon
2. polyester and nylon
%ter and cotton
4. wool and polyester

16. Matcheachitemin column I with appropriate
item of column II.

Column I Column 11

I. Malamine_.

A. Non-sticking
cookwares

I1. Nylon sily

biodegradable

1I1. Teflon
IV. Cotton

ppears like silk

ame resistant

Select the correct alternative
\,J/rﬁc’?; A, TVB
2. IANIB,INC, IVD

3. IB,IIA IIID, IVC
4. ICIID, B, IVA
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17. A highly reactive element (X) reacts with 17

///ux}rgen of air ev Fn..;{ room temperature to
give an oxide {Y]. The oxide (Y) is j‘;Ljﬁs’.znllﬁlv;-.
in water. The aqueous solution of (Y) does
not change the colour of red litmus solutipn
: e B o)
butreacts with an aqueous solution of sodium
hydroxide. The (X) is €5 1 \(\

x'© s
— o

% carbon [

sodium
hosph

S eninhu
sup'ur.);

18. Match the items in column [ with the items  18.

in column II.
Column I Column II
I. Iron . 77 Liquid at room
| temperature
Il. Copper——B- Deposition of red-
! dish-brown layer
on exposure to
maoist air.
I11. Pntassiﬂp__l;f__ﬂan be cut easily
with a knife
IV. Mercury-——=—D—Formation of a

greenish layer on
exposure to moist air.

Select the correct alternative

1. TAILC, III D, IVB
515 DIIC VA

3. IC,IIA, IIIB,IVD

4. ID,IIB, IITA,IVC

19. Naphthalene which is used to repel moths 19.

‘/;ami/mhar'ﬁi’sects is obtained from:
: . Coal tar

2. Petroleum
3. Coke
4. Paraffin
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20. What is true about natural gas?

A. Itsmain component is methane and is used
as a fuel in motor cars, __—

B. It is used as the raw material for
manufacturing of fertilizers__. g i

C. It is used for the generation of
electricity. G

D. It is an inexhaustible natural source. /
A.BandC

2. B,Cand D

3. C,Dand A

4. D,Aand B

21. Some of the substances used in making of
4 modern safety match box are listed
below:

A. Antimony trisulphide A
B. Glass powder
C. Potassium chlorate _/

D. Red phosphorus

The head of a modern safety match stick
contains:

l. Aand D
2. Band C

I5E D
_-j/ﬁ:’ﬁu

22. During burning of a candle, different zones
of combustion in the flame are listed
below:

A. outermost zone
B. innermost zune.l
C. middle zone
The correct order of temperature of zones
is:
l. A=B>C
2. C>B>A
3. B>C>A
A A>C>B
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23. Read the following statements and select the
correct statements about greenhouse gases:
A. Carbon dioxide is the only gas in the

23

atmosphere which causes global warming, A

B. The greenhouse gases trap heat and do not
allow heat to escape into outer space.

C. Water vapours do_not contribute to
greenhouse effect.

D. The presence of excessive greenhouse
gases in the atmosphere is responsible for
global warming

I. Aand B

_2"BandD

3. Cand B

4. Dand A

24. Calamineisusedtoreduce theirritating effect
of ant bite/sting because it reacts with (X)
released due to the bite/sting of ants with (Y)-
present in calamine. Then (X) and (Y)
respecitvely are:

1. Sodium hydrogen carbonate and formic
aci
«Formic acid and zinc carbonate
3. Acetic acid and common salt
4. Hydrochloric acid and zinc oxide

25. A farmer has been using excess quantities of
chemical fertilizers in fields for a number of
years. The crop yield began to reduce in spite
of using chemical fertilizers.

Which of the following are correct statements?
A. The soil has become more acidic
B. The soil has become more alkaline

C. The yield can be imdeing
slaked lime to the soil '

D. Theyield can be improved by adding some
organic matter

E. The yield can be improved by adding
common salt.

1. AandE

2. Band D
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26. Which of the following is a physical

change?

A. Hammering of a red hot iron rod to make
a flat sheet,

B. Formation of ice by cooling of
water. /

C. Rising up of water vapours from sea to

make clouds. o

D. Heating of charcoal in air to high
temp re till it begins to glow. )-(

LA, BandC

2. B,CandD

3. C,Dand A
4. D Aand B

27. Which of the following is a chemical

change? :
A. Bubbling of oxygen gas through water,
B.

C.

Burning of wax of a candle. ~—

Emitting of light from an electric bulb on
passing electric current.

Passing of carbon dioxide gas through
lime water.

1. Aand B
D

~.3 BandD

4. Aand D

D.

28. Drivingacaronawetroad isdifficult because
water '
‘;)&lédiﬂicult to turn the car,
~ decreases the friction between the tyres
and the road.
3. increases the friction between the tyres
and the road.

4. makes friction between the road and tyres
ZETO.
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qualities or properties.
Column — | Column — 1T
L Plane mirror | —A-Feels thinner in

the middle.
. Always forms
virtual image of
the same size

[I. Concave

IIL Comvex mirr ways forms
virtual image of
smaller size

V. Concave lens+/ |-D-Tsusedby dentists

to examine teeth

V. Convex lens . ~E: Can be used as
0 reading glass

The correct matching is
_LAB D, IIC,IVA,VE
2. IC, A IIIE IVB, VD
3. IAAHE B, IVD,VC
4. IAIIC,IITE,IVB, VD

30. A ray of light falls on a plane mirror A kept

29. In the table below. column ¥ lists various
mirrors and lenses and column IT their uses,

at an angle 90° to mirror B as shown in the

figure. The angle N is

b
AARAARA AR

o T T

i
EEL IS LS EF TP F PP T I P rF T T

1. 30°

2. 455~
~_37%60°

4. 90°
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- Atmospheric pressure in the center of a

tmyyclone 18
~_L~very low because of dense sinking air.

2. very low because of rising warm air.
3. very high because of sinking warm air,
4. very high because of converging winds.

32. Consider the given circuit carefully. What do

you think would happen if the two copper
plates are moved further apart from each

other?
_1'...._.|r-_ ,.

L. Largeramountofcopperwill be deposited
on the plate connected to the negative
electrode. -

2. Smalleramountofcopperwill be deposited
on the plate connected to the negative
electrode. f

3. Largeramountofcopper will be deposited
on the plate connected to the positive

ctrode.

Smalleramountofcopperwill be deposited

on the plate connected to the positive

electrode.

33. Two electromagnets are made by wrapping

afew turns of wire on similarnails and passing
the same amount of electric current through
them. The number of turn of the wire wrapped
over the fwo iron nails are in the ratio 2:1.
The strength of
- the first electromagnet will be greater.

2. the second electromagnet will be greater.
3. both the electromagnet will be equal.

4. electromagnet has no relation with the

number of turns.
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34. Electric current is passed through a straight
conductor passing through the centre of a
piece of cardboard. Some iron filings are
sprinkled on the cardboard and tapped. The
iron filings around the conductor

1. sett parallel lines.
s ettle as circles.

~ 3. settle at one point.”
4. do not acquire any regular pattern.
35. In which direction from Saptarshi (or Ursa

__—  Major, or Great Bear) shown in the figure do
we search for Pole star?

K

& S R

| SAPTARSHI Y B

l. atef.
e y to 8.
3. Btoa.
4. dtoy.

36. Temperature of a body can be measured on
different scales, Celsius (C) and Fahreheit

(F). When thermometers measuring in °C and

°F were used to measure temperatures of

4 % various bodies, the following table was

1Kz ,I,‘/ obtained:
';:T a °C E
4 = lce 0 32
- Boiling Water 100 | 212
59~ Hot Water 70 158
Tap Water 25 I2%
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2.99 38
3. B«
4. 5"y

¥R =1 aEe fafa= whe S Afes ()
ST ERARTEE (F) | B9 <7 Geet 21 57 fafi=
FEH 1 4 A9 F few et dfewm (o0)
3R 3t WRABTEE (°F) & A At e &
I foen it FreAffia wnfioh s o2

& °F
ki 0 32
EE GGG 100 212
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37. When there is lightning and

38.

A. you are in a jungle, go under a tall tree.

B. you are in a jungle, go under a canopy of
small trees and bushes.

C. you are out in the open, crouch on your
feet, do not stand up or lie on the

ground.

D. you are in an open field, stay there rather
than go inside a completely covered
building.

Of these the good strategies are:
I. Band C

2. Aand C

3. A, BandC

: ,Cand D

Which pair of the following graphs represents
the same motion?

Time " Time
3
2 gi Ei‘._i
Time Time
; §> 3
5‘ /5]
Time Time
e 3
S 2
" Time Time

37.

38.

S13

wa dfeq (faseft) =9 @ e sl

O e B e e
IR U

B. 19 Sirer o &, 6 9 ief iv wnfedi @
faam (Frd) = 9= == s =fen

C. 59 =X get o &, 7t o W w 7w
WA Aifed, SHA W @ @ wed T
=fe|

D. g& ¥ F o, @ T wE 2F g9 &
W # T 9 @ e

T 9 F it w8 #
1. B @i C

2. A #RC

3. AB 3k C

4. A,C SR D

= 4 4 =8 @ e % g g 1
= fefa s 22

T
2 _“Ec/. kﬁi
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What is the average speed of the car between
4 and 20 minutes? 3

1. S/ kaafin =
2. 15720 kem/min % e

——

Ul 3

Ul

39. A car travels from A to D as shown in the 39,

UF R A 9 D aF F1 I &5t & 5w 5
mE ¥ e T t—

30

AL d iR 12 16 20 T 26
— » "9 (fF2)

FR H AT =@ 4 R 20 Az & 4=
FH o 27

1. 5/8 Tt ofg fae

rﬁ__ﬁ:::. 15720 T ofq iz

3 Sfjlcmrmm T == — 3. 8/5 Toperdtex gff fige

j”fm km/min

,_% 4. 5/4 Tercisiex g foe

'L

40. In which of the following positions A, B and 40. TH ‘q:nzq' %1 frafatEs A, B & ¢ feafai

C of a cuboid will it exert maximum

pressure? {
™A
- e e
A B e
C

@{B/
. C

4. In all positions it will exert equal
pressure

S14

¥ H HF d fufg ¥ g7 sfuwan =
T ?

RS
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41. X buys pe‘ﬂ’é and pencilsat ¥ 5and ¥ 1 per 41
piece respectively. For every two pens, he
buys three pencils. He sold pens and pencils
at 12% and 10% profit respectively. If his

—2) \®0
165::‘(_“ !

L5 = | 90

|0 po— 2
X wem i Afge HHe: 5 B9 9 |
# = ¥ wie 21 98 96 & Fom & A

7 Sfme i 21 9% wed a9 i i
FHI: 12% AT 10% F &9 W A= ¢ qfR

total sale is ¥ 725, then the number of pencils -~ THHF FHA 725 ®@ T
exceeds the number of pens by 1 - Bt = qer em o fara Cﬂﬁﬂ? ?
¥ e 2 . 125 7! 3) > |
- o ) LA ]ll‘ulr— !|L:-—;E|r'
< 50 Pt 2k ’,fr 2. 50 6} ca =
| = | 5 | L
3. 75 ’7 HU Y35 L '6?01_1.\):'?2::
4. 90 GO Yooy 620 90 % 2 il
: = K 55 /& -
5% Hﬁmﬁﬁ;ﬂﬁg

42, Iftaxona mm&lgdit}r is decreased by 15%
and its consumption increases by 10% then
the percentage decrease in the revenue is

1. 15 j: o 5—/5
__,_.-r'z' 2 L 'll)uf"
3 6L

451

4.52 4\9

43. Unit’s digit of the bR y 43,

9
31001 5 FIO02 5 131003 jo -0
¥ /
144 i Ll
/5 i CN g % Br‘:;%
i- ; 7= P

44, If the square root of a number is between6 -« 4.

and 7, then its cube root lies between 1 s b

1. 2and3 _ ~ &0
2. 2.5and3 0 ===
G- £
Yo, B (0
‘>4 and 4.5 "-Ya'% o

S 0
45, Ifanangle of a regular polygon is lﬁﬁmftﬁ,én@ As.

the nuatber of sides of the polygon is

S T .
54 B L RO 5 RS

3. 18
4. 15

(

g
[ e
'

165K = (M- 180
\ 2 S15
[ESTL= 1%1“2_

|65m — gD =

— o)

ﬁf

et o & L H
@ ¥ 10% 1 gfg B S € @ T |
mm@g \" ; -{P:Fp.'f.l:-‘“-."

-_r,-;—.'
1, 15 T NEDD
F o
2.5 L A%
5.7
1 .
3. 61
= ol M
4.5 =1L i) o
_—-""F.‘H .
gem 3 x 7% x 1305 3w w1 S
# L et
L1 -
2.3
3t
4. 9

ofx frdt de 1 T 6 a9 7 F = @

~ A w1 e Fettad § e w2
1. 2 3R 3 J
2. 2.5 3R 3 éjfél
3.3 3R 4 La
4. 4 3R 4.5 i

wﬁﬁﬁmﬁaﬁﬁ%%? g1
TEHA H gmﬁaﬁﬁmi%&q,x

1. 30 Aoy
2. 24 5 A =
3, 18 ~ 6D
"ol R s
,}_. .I ;3 "fl'_ - ;" o
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47.

inversely
0y then

o

e

11 7 :

If in a race over a d:stanqe e of d mea}es at

%mfnn:n speed, A can I:-r:at B bf'éﬂ mém’ﬁ

o ——

et M
. 200

48.

'l‘_. sanly one factor
. *two factors

can beat C by 101 metres and A can beat C by
EIfmetres then d, in metres, is equal to

IR K2
=}

&

[4

Given a number x = 2** — 1. Then between 5
and 10, x has/have

4. 500

“no factor

ﬁf‘)\_

Ki

@e{ﬁ;&e factors,

49.

SE

\\
Given two 4-digit numbers abed and dcba

Ifatd=b+c=7, thanthmrsummnnt

divisible by
\ O
) O, 5

oy goji —
3: 101
4. 111

Half of a herd of deer are grazing in the field
and three fourths of the remaining are playing
nearby. If the remaining 9 are drinking water
from a pond, then the difference between the
number of deer who are grazing and those
who are playing is a multiple of
1. 4

20 2

A

. -~
«,1,61 R

'I:‘"}f
-
e

[

-\
s

46.

£l

47.

48.

O

49.

<l

e
"";}./'--..___

T TAEE WS x U1 y SehuuE 2l
g x # 20% =+t gfg o1t 2 9 v § gfavw
FE BT 2

1. 20

2
2. 16=

3
355

o

1
Ife wF 99H Mia § d " gl @ o
<rg wfeEifer o A, B 1 20 =X 9 0 ©,
B, C i 10 Hizt ¥ =@ & 3 A, C 1 28
X ¥ w0 € "#e ¥ d, w0 B

1. 100

2. 150

3. 200

4. 500
A@aEmx=2%-1FfEusamio=
" x F

1. FE TREE T 2

2. ®ad UF HEE 2

3. T EEE

4. F e 2

% =91 & F1 H=HaA abed 3T deba =
T T ag a+d=b+c=7, A TH AN
ﬁr—mﬁﬂmﬂﬁ%?

7

2. 11

¥ 9 firg =1 T 2 ;
phe e .tf:f:_ﬁj_ﬁ
2. 6 —&
3. 8
i
4. 9 ol R TRD, R
el
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51. If amongst two supplementary angles, the 51, 7 GEE SR F0 = AH AW T
measure of smaller angle is four times its =1 =R O 1A FOW F AW #
complement, then their difference is

s
.3 piz 10 1. 30°
S o AT,
6° S 2. 36°
. o 4 e x© o
3. 43 "c.:'-"l LI ]Eg 3. 43
4, 45° L AR L

52. IftheanglesA, B, C and D of a quadrilateral  52. afz feft =rges ABCD % &7 A, B, C @1
ABCD in the same order are in the ratio 3 : D#HEAIHE3 : 7 :ﬁ:dﬁﬂﬂmﬂ‘qﬂﬁﬁ
7:6:4, then ABCD isa ABCD % TH

| { lont =368
1. Parallelogram 1 ]. THIE
2. rhombus B 2. THEEHS
3. _trdpezium n 3. HHAE
T4 kite \j/ 4. T

53. If angles of a triangle are in the ratio 2:4:9, 53, gft fEdt B & O 2 : 4 2 9 FH AT
then the difference ofthe two smaller exterior W 71 e & & Al e FHON F AT
angles of the triangle is — 3
1. 24° oot-4%4+ 9T = Bl 25°
2. 30° WELE =5 8 5= 30
3. 4° =12 3. 44°
4, 60° 4. 60°

.4. In the following figure, AABD = AACD. If s4. fyefefEa smsfa §, AABD = AACD afg
Z/BDC = 110° and ZDAC = 30°, then the /BDC = 110° @it ZDAC = 30° at ZDBA
measure of angle ZDBA 1s— H HA T

A
110°
B (o
1. 704
2. 40°
3. 30°
&4 257
74 S17
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;-.L't;hfz - N ;aa.v\%} 2 &\E}:}Pﬂrrm,b:_
4 S
55. Ina AABC, AB=4cmand AC=8 cm. IfM 55, 20%) AABC % AB=4 4. 3R AC=8%.
is the mid point of BC and AM =3 cm, then1% ‘"‘ﬁ %I‘ﬂﬁM BC %1 weafag = 3R AM =
length of BC, in cm, is e 3#‘&??1’[]3(135[%@ qd o, 2
\ 55 o : b =
._._':#__;__. l. 2\ Zﬁ ’:JI'T’E-'HI - 15 2\/%
M 2 243 e 2. 2431
#,,34 R LR 3,4/
4. v’ﬁ \5?“_ -1: 406
56. Let C and A be the circumference and the 56. TH wifsr C a1 A S W 51 aftfa 7
area of a circle respectively. If x C is the =i
circumference of another circle whose area i
is 2A, then x equals _ C=2Th
‘/mﬁ' : !
- 2. 2
—KExhy .
T ol
W = VA
\ % &h x4 4 ‘é‘
= himg
57. The area (in cm®) of the largest triangle that ~ 57. 3§ gevd g, 5 r 9.4, FEE gy
«an be inscribed in a semicircle of radius r H FHfed & Tehar B, 1 8FFA (cm?) H,
_4_%1“ cm is B |
/I’ o] 3 KLY 7
8 28
(Y - D
- i
J.r? = j/ pr oYK B
1 X e
Em'z v A2 _4 Zm.z TINKLR =
58. Ifx denotes an angle between any two lines 53, ofy x et Tmmess = = === ==
of symmetry of a regular hexagon, then the F A9 H FU B W x T B 8 9 9H
minimum value of x is 12 B, s
L. 30° . S 1. 30° TR A
245" - 2. 45° % oL
=60° dpr o 0 3. 60° g_'#_, \‘-.\ Z—- 2
4. 90° F3 o NS
N (s SR B\ n
¢ a’l‘ f w I g - -
\; S 18/ £ e —




[59. Thequadnlataralmap]ang.fu edbyjoiming  59.
— _the points ( 3], {4,,‘ (6 3) dnd
(4 %l_ls_a
1. square

2. rectangle ;\

i}

3, rhombus

Mxium whose nppnmte angles are
= unequal.

60. The mean of the median, the mode and the
range of the following data:

60.

oA o fagat (2, 3) (4, 6), (6,3) T
(4, 0) & o FGHS & THh—

1. =

2. P

3,1411?@&3

4,?6'31"@%%@#@“%

fefafian siel & Hieash], qgeE a
freT 1 HEA T Hie)

84, %@@@f‘?‘;ﬁ“@ 84,21, 77,56 84, 56, 39, 45, 54, 39, 56, 54, 84, 21, 77,
. 56
| :_,'j -ﬂ .d. M ' { o
el 54 54 _ 56,5650.6,7.7; 8487
2. 56 2. 3b
'[_ e
e :' _.-[.-—" 1-_._ . &Y i lII
_)/S( =3.4% 3 7 P
4. 63 2 4 63 e e
61. Match Column I with Column II and select 1. =9 1 %1 @9 11 4 foem e i &3
the correctly matched alternative from the 7 fawedl | 9 Wl e T fasea &1
given. =T i
Column | Column 11 =1 = 11
[. Dhangadeva —Rajarajeshvara [ =7ed A TEIegar
| temple af=T
I \
II. Rajarajadeva—{1 B. Gangaikonda- 1. Teeea B, s Eae i d
? | ichiolapuram LT 1 C. F=E
I11. Rajendra ndariya AEC
Mahadeva 1V, =T D.wEE |
IV Babur ———D.Chahar Bagh in = EEn
Kabul

1. IB,IIA,IID,IVC
2. 1D,IIB,IIA,IVC
3. 1A, 1B, TIC,IVD
4 ¥CUAMBIVD

A

jf{-lvr iy
_l——if}_l“—'?

== T

|
SIineer =
X3

1. IB, ITA, LIID, IVC
2. ID, 1IB, A, IVC

3. 1A, IIB, IIC, IVD 2
4. 1C, TTA, ITIB, IVD
|
% o
B
D lx?r“’_f_._t_?'-”_:'_{__ 3‘"_;“
2 > -




Assertion

(A) : The works of most of the bhakti saints
became immensely popular. | —

Reason

(R) : Most of the works were composed in
regional languages and could be sung, —

1. A is true but R is false
2. A is false but R is true

3, Both A and R are true and R. is the correct

explanation of A

4. Both Aand R are true but R is not the correct
explanation of A

63. Match Column I with Column II and select 63,

the correctly matched alternative from the

given.

Column I Column IT

L. Alvars z Saivism

II. Nayanaw’-q;’,_){aishnavisrn
I11. Sufis |'C. Basavanna
IV. Virashaivas— y D. Islam

—

/I‘/mﬁ, 11D, IVC

2. ID,1IB, IIIA, IVC
3. IA, 1IB, ITIC, IVD

4. IB, IIC, IIIA, TVD

520

62.

TR

(A) : R 9 9= F S swfas
Gleaip i

chITuT

(R): SRR i &t = &5 e o
FI T o ST WA ST g o

. A Tt ® @ifes R Tem 2
2. A oW # @fFT R TR B

3. A 3R R F §& & @R R wet =mem
7 A F

4. A 3N R T wEl € wfHa R T e
T & A T

w9 1 % WY 1 | faem ifsw ik T
™ fasedt o ¥ w2t oo 9 fawen #1
=Y hifera:

w1 w11

I 3eEn A. ¥
Il ¥R B. FoEaR
ILFw! C. 5Ha=1
1V. g D. S5

1. IB, ITA, TTID, IVC
2. ID, IIB, IIIA, TVC
3. IA, IIB, ITIC, IVD

4. IB, IIC, ITITA, IVD
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64. Match the following Mughal officials against

their positions.

Column 1 Column I
I. Bakhshi . ——=1A:Town Police
] ; Commander
11. Faujdars,,_,_.k . LB. Military
"I . Paymaster
II1.Sadr —————C.Incharge of
/ Religious and
III Charitable
, patronage
V. Kotw l.__._D. Military
Commander

Select the-correct alternative
1B, 1ID, IIIC, IVA

2. ID, [IC, B, IVA

3. IA, IIB, [IIC, IVD-~

'_h 4. 1B, IID, IIIA, IVC[\

(ES | Choose the correct sequence to indicate the
o following statements as True (T) or False

(F)
A. Victory in India had never been a subject
of painters in Britain -F—"j ~

B. Many European portrait painters came
to India in search of profitable

commissions =

C. Mohammad Ali Khan of Arcot never
commissioned any European artistto paint
his portrait (=)

D. Johann Zoffany, a European painter was
bornin London ("7 )

I. EEF :

e

w2 F,F,F,T

LEF

i}ka;F

64. Trefafan qme sfosfE &1 39 96 &

65.

oy e Fifaw)

w1 a1

1. = A. 7T gferd
HHU=T
(GIEED)

I1. BIsER B. T SR

1195 C. aififes 3
Tofef e
& WHRT

IV. Sleare D. TIE

el faweg Tl

1. IB, IID, IIC, IVA

2. ID, IIC, 11IB, IVA -
3. IA,TIB, IIIC, IVD
4. 1B, IID, [TIA, IVC

frefafag weAl =1 W8l 21 7Tod 59H & 6
el HH H1 F9T Hifod:

A, S faem it off foea o vt (Fage)
=1 fawa = w1 2

B. H&d 9 FUI 5 59 &t 9t (F9A90)
I | SEaE FHIYE W S & fag
Cnip ]

C. AT & HEwE 26 @ A w41 ot fad!
AT FHEAR FH AT TER G2 FH
=1 AfHFER 7= =

D. T b (Feasr) e Siw- @<
H i 5T &)
Hel, e, Wel, e

pooetliE R




form through the centuries.
a. Kathak through the Bhakti cult.

b. Kathak thrnu:gh the caste of story
tellers.

c. Kathak through the Nawab of Awadh.

d. Kathak through the Mughals.

1. a.d.b.c.
—h.a d, c:

3. dcba

4. b,c,d,a.

oo /j =

settlements in accordance with their order of

antiquity.

a. Hampi

b. Kanchipuram

¢. Masulipatnam

d. Bombay

1. . bed e
JZ{:. c, d.

3. b,e.d, &

4. b,c,a,d

—L—é.r e

of the Gonds as per their hierarchical order.
| a. Barhots b. Chaurasi

c. Garh d. Village

1. dibe, & 2.¢c,d,aDb.

e a b, _ 4, e7bh, a,d.

69.

ﬂf_ij;ueen’s rule went against the ideal social
order created by God, in which women were
supposed to be subordinate to men?

1. Queen Didda
‘_‘)/léi:lSuitam

3 Q_peen Rudramadevi

/KL/ E}ueen Durgavati

S S22

66. Trace out the growth of Kathak as a dance 6.

67. Arrangethe following commercialtownsand 67,

68. Arrange the following administrative units 8.

About whom Minhaj —i- Siraj said that, the  §9.

ofedl ¥ Fw F UF 99 & §9 ° faEw
a. 9 TUEME (99) F A9 9 FoAT
b. TFEF FEA el T WG G Sedds

c. 99 & T9E T S

d. TH T FeaE

L. ‘avdbic

2. bh.ade

andic b a

4. b,c,d, a

( sTfrendi/aTmaTEl) = IAHT A=ET F OwA
o =gy Fifae:

a. BHR

b ey

c. HYSTLETH (HSeiieeT)
d. =

L. a b.d,c

2obiaged

3. boc.da

4. b,c,a,d

el =1 FEfaiEy yemaiE Rl # 3T
TEFH & ATHR G wifae:
a. @@ b. =t
c. 7@ d. =

B Kl A 2. ¢c,d, a,b
3. a.d.c,b 4. c.hoad

fFas an A foem-u-faus = e i, o
T IEA TEE g 99 T Sy HrEieeh
sEw & fauda or, fou wfeenst =1 geai
& FEEE HE T o417

1. T f&g|

. W= e

. T TEARE!

. T gt

b2

[ = Y




70. Which of the following was the division of

71.

A

Indian history made by James Mill?
1. Early ages, middle ages and modern age.

2. 0ld age, middle age, modern age and
contemporary age.

3. Ancient, medieval and modern.
_4#Hindu, Muslim and British.

Choose the correct sequence to indicate the
following statements as True (T) or False

(F)
a. After the battle of Buxar, the Company

70.

L

appointed Residents in Indian states. Tt

b. Resident represented the imperial power
in the local court. /m

c. In 1765, the Mughal emperor appointed

the Company as the Diwan ofthe provinces
of Bengal. \}m

d. Resident exercised financial and
administrative powers.

. ETET
2. TEFT
3. T,LET
L TF

72. Examine the following statements and select

the correct option.

A. Tagore felt that childhood ought to be a
time of self-learning. ~—

B. Tagore wanted to combine elements of

modern western civilization withwhathe

saw as the best within Indian tradition.
1. Ais false and B is true

2. Aistrue and B s false
A;: and B are true

4. Both A and B are false

12,

S23

W foa g fFar m andE s &
favrem frofafas § 9 50 @ o2

I a1fg gm, #eg g0 SR gt gn

2. WA W, HeA AU, g g0 SR
HHHEE 01

3. WM, HEAEEA R i
4. feg, gfwm o fafew

frerfafam oAl =1 =98t @1 o 39 & fou
TEl FH T 999 S

4. IO H TEE & 9§ FEHEN 7 GHEHE
T H iged # i #

b. iSiige WG *EeW § IMEN HE H
giaffee =t

c. 1765 H WA d@™IE A FAl
e W % dEE % w9 §
T

d. = fadg @ik wenefs wfemsl &
T T |

1. Ted, Wal, Ted, Hel
2. W&, e, e, Hel
4. WEl, Hel, Hel, Ted

frefafEd w9 ®1 S" ST T el
TaFeq &1 999 Sifaul

A. 2R = Ta=m o fF aeaEe EE-ded
F1 HEE B =@ifew

B. 3R 3 WA 9ea % oy S gary
%@, 9 39 enyfis et wed & 9
e ==d &)

A T § 3R B WE €
. A ¥ % 3R B e 2
. A 3R B =H T =
. A 3k B g Tem 2l

Led

—_

L B2




73. Arrange the following organizations in
chronological order.
a. Rashtriya Swayamsevak Sangh
b. All India Muslim League — (0%

¢. Indian Association

/d;}mf National Congress — | € £
“E ~d, b, c,a.

74. Who said. “The streets of Delhi are not mere
streets, they are like the album of a painter.”?

1. Bahadur Shah Zafar I1

2. Mirza Ghalib

3. y,ward Lutyens
__4< Mir Tagi Mir

75. Assertion

(A) Jawahar Lal Nehru and Sardar Patel were
opposed to the formation of linguistic

states. —
Reason
(R) The creation of linguistic states threatened
the unity of India. @<’/
1. Ais false and R is true

_/J,/ﬂsue but R is false
3. Both A and R are true and R is the correct

explanation of A

4. Both A and R are true but R is not the
correct explanation of A

76. Whichofthe following happens tothe amount
of ‘Energy’ when it is passed on from one
trophic level to another in an ecosystem?

1. Thereis no definite relation
: Ma;:_lreases

3. It increases
4. [t remains constant

73. FreAfafEad Siedl = REHAIER A
i

a. UEME =E g9% §Y
b. sfas wRd™ giem
gfea TaifaayA
g T FHUH
d,b,c,a
c,d,b,a
a,b,dc
b,a,c,d
74, T w1, “faeen =t feEl Few el T8l
¥ 4 fa@nr (T=%) & Tean ® @E o
1. @B e s fadE
2. o=l mie=
3. UEHE qieaH
4. WU T HIT
75. rfueRg

(A) TETEX A6 8% S TER udd HmHE
T ® A & faud 491

I I -

ehRIT0T:

(R) wmomi T4l % GG 7 9 Hl Th

I AR <1

1. A Tem # SR R T R

2. A 9 # ¥Rt R Tem 2

3. A &t R =H @é € 3 R T =
2 A FI

4. A 3R R = Wl € fg R W& =
T8 & A il

76, TrefeatEa § | i o e H1 HE & Y
Hfea 2 & w9 39 wifeufas 99 ¥ T 9
1o TR W TR U WCR TS S E2
1. o= T= € 2
2. 9% "t g
3. ¥% =t 8l
4, 7% T @ £




77. Which of the following atmospheric layers
is suitable for radio communication?

1. Troposphere
2. S?wsphere e
3+ Tonosphere

4. Exosphere

78. Assertion (A) : Westerlies are stronger in the
northern Hemisphere than in the southern
Hemusphere.

Reason (R) : The northern Hemisphere has
more land area than the southern

Hemisphere,
A‘ﬁ ‘A’ and ‘R’ are true and ‘R’ is the

correct explanation of ‘A’

2.Both *A’and *R’ are true but ‘R’ is not the
correct explanation of ‘A’

3. 'A’ 15 true but ‘R’ is false
4. A’ is false but ‘R’ is true

79. | Which of the following diagrams represents
—' Neap tide?
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80. Match Column— I with Column — II and select
e correct answer from the given altematives:

Column-I Column -I1

. |Melghat ~t-A—| Karnataka

1. | Nandankanas-B-| Madhya Pradesh
IIl. | Kanha——' | | C. | Maharashtra
IV. | Bandipu=—' | D. | Odisha

1. }A,IIB, M C,IVD
CIB,IIC D, IVA

3. 1C,IID,IIIA,IVB

4, 1€ 11D, 1B, IVA

81. Assertion (A) : Major industrial regions of
India have developed in the immediate hinter-

lands port of Kolkata, Mumbai and Chennai ~~

Reason (R) : The ports provide access to the
raw materials available in the hinterlands of
these as well as to the world markets
/,’ﬁtﬁq‘fi’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’
2. Both “A’ and ‘R’ are true but ‘R’ is not the
correct explanation of “A’
3. “A’is true but ‘R’ is false
4, *A’is false but ‘R’ is true

82. Consider the following statements and select
the correct ones:

a. Ironand steel industries developed around
lake Michigan in USA due to availability
of good quality coal —

b. Pittsburg -Youngstown area is the leading
producer of steel in USA A\ ——

¢. The Lorraine area in France is significant
for steel production =

d. The south Manchurian region accounts for

nearly 60% of China’s pig-iron production
Select the correct answer from the given

alt 1ves.
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83
@ ;f%iﬂg statements as True (T) or False (F)

. Paraguay is part of Amazon Basin

@4

a5.

) Choose the correct sequence to indicate the

2. Niger is part of Sahara Desert

35 J_ndlanapnlls 1s part of Canadian Prairies /
I TTF

2. FET

3. TET

4. FTF

atch the population pyramids with type of
economies category

@
I Developing Economies

I1. Developed Economies

I1I. Least Developed Economies
Select the correct alternative

- TILA, NB,I1CA
fm 111 B, uc/
3, 1A, IIB, IG—/

4, A, TB,IC Y.

EUNITOF 4 UNIT OF I UNIT OF

= | UNIT OF-STEEL
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A B C

Select the correct alternative
I. A-Coal, B-Limestone, C-Iron ore
2. A-Coal, B-Iron ore, C-Limestone

3. A-Limestone, B-Coal, C-Iron Ore

v%.r/on. ore, B-Limestone, C-Coal
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ﬁ/ﬁ‘atch List — I with List — II and select the  8g.
/rrf:a answer from the given alternatives:

List I1

I. _ Shlﬂlng cultivation: | Al Pygmies

IL. |Pastoralism —|B. [Eskimos

L | Hunter & [ . | Kirghiz
' | Food Gatherers— '

IV. |Hunters — D Rengmas

I. IAANBINC,IVD

> TANCIB.IVD

3. ID.IAIIIC,IVB
4. ID.IOC HIA,IVB

B7. Match items of List I and List II and select

the correct alternative

List-1 List-11

I. |Argentina ———=4A. | Velds
IL. | North America+—B- | Downs
I1I. | South Africa —‘P I'l | C. | Pampas
IV. | Central Asia | D~ |Prairie
V. |Australia_— [ |E. Steppes

L ID.IIB.IIIE,IVA,VC?(

2. 1CIID, B, IVE, VA .
\%II D,IIA,IVE,VB
4. IE,IID,IMMA,IVC,VB
88. What will be the correct sequence of natural
— egetation in South America if one travels

from North to South along 60° to 70° W
longitude? Select the correct alternative

1. Gran chacos, Pampas, Llanos, Selvas
2. Ll

3« Llanos, Selvas, Gran chacos, Pampas

0s, Gran chacos, Selvas, Pampas ~

4. Pampas. Selvas, Gran chacos, Llanos
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89. Pa]l coloured paper pelletis put ina beaker
_half-filled with water,
# e beaker is placed on a tripod stand and
heated.
Asthe water warms, the pellet moves upwards
with the warm column of water and sinks
~ back along the cool column of water.

Identify this movement

1. Molten magma inside the earth

2. Earth’s Magnetic field

3. Energy flow from one trophic level to

?n
4 drological cycle

SR o
90. In the map given below, mark the two cold
currents

d+@
2. CandD

3. Aand C
4 BandD

91. India is a ‘Republic’ because
1. legislature is elected
2. the Actof 1935 provided for a republic
" the head of the state is elected

4. it has representative democracy
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92. Under the Indian constitution which one of the
following articles plays an interventionist role
in the autonomy of a State Government?

1. Article 190
\,zzm?ljﬁ
3. Article 339
4. Article 356
93. A: The Supreme Court of India can provide

Advisory opinion to the President —

B: The President of India is under obligation
to accept the advise \(

1. AandB are true
2. AandB are false

=7 is true but B is false
4. Ais false but B is true

94. The bouadaries of States can be altered by
{>ud"the Supreme Court of India
2.~ the President of India
3. the State Governments

4/.th Indian Parliament

95. The Indian National Congress was defeated
——for the first time in the General Elections of
Parliament in the year

1. 1962

S5 1967

3¢ 1977
4. 1998

96. Market forces play a prominent role in those
states whose ideology is based on

1. feudalism
Wﬂl
3. communism

4. confucianism
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97. Which one of the following pair of constitu-
~~_tions use the expression “we the people” in
the preamble of their constitutions.

-}~ British and U.S. constitution
2. Indian and British constitution
3. Indian and U.S. constitution
4. French and British constitution
98. The Lok Sabha Secretariat functions under
the direct control of
I. President
- 2-Prime-Minister
3. BSecretary-General
4. Speaker
99. The ‘International Woman Day’is celebrated
on
1. 1st March
~~—27 8th March
3. 1st May
4. Bth May
100. The following persons were the President of

India at one time or the other. Identify the

correct chronological order in which they
held the office.

Dr. Sarvepalli RadhaKrishanan
Dr. Zakir Hussain
Dr. Rajendra Prasad
Dr. V.V. Giri
c,d,b,a

a,b,c,d vy

e b

c,a b,d
4, b,d,c,a W
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